

www.sathyabama.ac.in

SCHOOL OF BUILDING AND ENVIRONMENT

DEPARTMENT OF ARCHITECTURE

Batch:2019-2024 Course: Bachelor of Architecture Semester: III

	8.30-9.30	9.30-10.30	10.30 - 11.00	11.00-12.00	12.00-1.00
MON	SAR1201	SAR1201	В	SAR1205	SAR1204
TUE	SAR1203	SAR1802	R	SCI1211	SCI1802
WED	SAR1203	SAR1202	E	SAR1205	SAR1802
THU	SAR1202	SAR1204	Α	SCI1211	SCI1802
FRI	SAR4057	SAR4057	K	SAR4057	SAR4057

Course Code	Name of the Course	STAFF NAME
SAR1201	History of Architecture I	Ar. Arun S K / Ar.Sindhu Meenatchi
SAR1202	Building Services I	Ar. Vignaeshwar / Ar. Ebin
SAR1203	Site planning and analysis	Ar. Catherine / Ar. Surya
SAR1204	Climatology	Ar.Surya / Ar Madhumitha
SAR1205	Materials & construction II	Ar. Ramkumar / Ar Kaviya.G
SCI1211	Building structures II	Ms. Nirmala / Mr Manoj
SCI 1802	Structures Studio II	Ms.Priyadharsini
SAR1802	Construction studio II	Ar.Jhannu Priya / Ar P.R.Divyaa
SAR4057	Design studio III	Ar.Deepalakshmi / Ar. Vignaeshwar
	Year Coordinator	Ar.Deepalakshmi



www.sathyabama.ac.in

SCHOOL OF BUILDING AND ENVIRONMENT

DEPARTMENT OF ARCHITECTURE

Batch:2018-2023 Course: Bachelor of Architecture Semester: V

	8.30-9.30	9.30-10.30	10.30-11.00	11.00-12.00	12.00-1.00
MON	SAR1302	SAR1304	В	SAR1304	SAR1301
TUE	SAR1303	SAR1303	R	SAR1301	SCI1804
WED	SAR1804	SAR1804	E	SCI1312	SCI1312
THU	SAR1302	SCI1804	Α	SAR4061	SAR4061
FRI	SAR4060	SAR4060	K	SAR4060	SAR4060

Course Code	Name of the Course	STAFF NAME
SCI1312	Building structures IV	Mr.Annamalai
SAR1301	History of Architecture III	Ar. Selvendiran / Ar P.R. Divyaa
SAR1302	Building services III	Ar. Kavitha / Ar. Selvendiran
SAR1303	Urban communities and behaviour	Ar. Yusuf Chiniwala / Ar.Karthikeyan Nachiappan
SAR1304	Materials & construction IV	Ar. R. Arulmalar / Ar.Juvila sri
SCI1804	Structures studio IV	Mr.Annamalai
SAR1804	Construction studio IV	Ar. Monisha / Ar.Juvila sri
SAR 4060	Design studio V	Ar. V. Shankar / Ar. Selvendiran
SAR 4061	Computer studio II	Mr. Amudhan
	Year Coordinator:	Ar. V. Shankar



www.sathyabama.ac.in

SCHOOL OF BUILDING AND ENVIRONMENT

DEPARTMENT OF ARCHITECTURE

Batch:2017-2022 Course: Bachelor of Architecture Semester:VII

	8.30-9.30	9.30-10.30	10.30-11.00	11.00-12.00	12.00-1.00
MON	SAR1401	SAR1402	В	SAR1405	SAR1404
TUE	SAR1402	SAR1609	R	SAR4065	SAR4065
WED	SAR1401	SAR1403	E	SAR1405	SAR1404
THU	SAR1403	SAR1609	Α	SAR4065	SAR4065
FRI	SAR4065	SAR4065	K	SAR4065	SAR4065

Course code	Name of the Course	STAFF NAME
SAR 1401	Introduction to Landscape Architecture	Ar. Swetha.N.M
SAR 1402	Specification and Estimation	Ar. Vignaeshwar
SAR 1403	Urban Design	Ar. Jhannu Priya
SAR 1404	Construction Management	Ar. Arun.S. K
SAR 1405	Contemporary Directions in Architecture	Ar. Catherine
SAR 1609	Energy Efficient Architecture	Ar Kaviya.G
SAR 4065	Design Studio VII	Ar. Surya / Ar. Swetha.N.M
	Year Coordinator:	Ar. Surya



www.sathyabama.ac.in

SCHOOL OF BUILDING AND ENVIRONMENT

DEPARTMENT OF ARCHITECTURE

Batch:2016-2021 Course: Bachelor of Architecture Semester: IX

	8.30-9.30	9.30-10.30	10.30- 11.00	11.00-12.00	12.00-1.00
MON	SAR1501	SAR1613 (Elective III)	В	SAR1502	SAR1615 (Elective III)
TUE	SAR1501	SAR1615 (Elective III)	R	SAR1503	SAR1503
WED	SCI1618 (Elective III)	SCI1618 (Elective III)	E	S21PROJ1	SAR4066
THU	SAR1502	SAR4066	Α	S21PROJ1	SAR1613 (Elective III)
FRI	SAR4066	SAR4066	K	SAR4066	SAR4066

Course Code	Name of the Course	STAFF NAME
SAR1501	Professional Practice and Ethics I	Ar. Ramesh Kumar / Ar. Seetha Visalakshi
SAR1502	Architectural Conservation	Ar.Deepalakshmi / Ar.Swetha.N.M
SAR1503	Urban and Regional Planning	Ar.Monisha / Ar.Karthikeyan Nachiappan
SCI 1618	Tall Buildings (Elective III)	Mr.Annamalai
SAR1613	Steel in Architecture Design (Elective III)	Ar. Ramkumar
SAR1615	Building Automation System (Elective III)	Ar. V. Shankar
SAR4066	Design Studio VIII (99)	Ar. Catherine / Ar. Ramkumar
S21 PROJ1	Dissertation and Pre-Thesis	Ar. R. Arulmalar
	Year Coordinator:	Ar. R. Arulmalar



www.sathyabama.ac.in

SCHOOL OF BUILDING AND ENVIRONMENT

DEPARTMENT OF ARCHITECTURE

Batch : 2019-2021 Course: M.Arch (Building Management) Semester: III

	8.30-9.30	9.30-10.30	10.30- 11.00	11.00-12.00	12.00-1.00
MON	S84PI	ROJ1	В	SAR5201	SAR5608
TUE	S84PI	ROJ1	R	SAR5610	SAR5622
WED	SAR5608	SAR6532	E	SAR5201	SAR5622
THU	SAR	5532	Α	SAR5608	SAR5201
FRI	SAR5610	SAR5622	K	SAR5610	SAR6532

Course code	Name of the Course	STAFF NAME
SAR5201	Human Resource and Materials Management	Ar. V. Shankar
SAR5608	Real Estate Management	Ar. Sukirtha
SAR5610	Research Methodologies in Built Environment	Ar. R. Arulmalar
SAR5622	Green building rating systems	Ar. Sheetal
SAR6532	Dissertation	Ar. Sukirtha
S84PROJ1	Pre-Thesis	Ar. Sukirtha
	Year Coordinator:	Ar. Sukirtha



www.sathyabama.ac.in

SCHOOL OF BUILDING AND ENVIRONMENT

DEPARTMENT OF ARCHITECTURE

Batch : 2019-2021 Course: M.Arch (Sustainable Architecture) Semester: III

	8.30-9.30	9.30-10.30	10.30- 11.00	11.00-12.00	12.00-1.00
MON	S89PROJ1	SAR5211	В	SAR5210	S89PROJ1
TUE	S89PI	ROJ1	R	SAR5610	SAR5622
WED	SAR	512	E	SAR5211	SAR5622
THU	SAR	512	Α	SAR5210	SAR5211
FRI	SAR5610	SAR5622	K	SAR5610	SAR5210

Course code	Name of the Course	STAFF NAME
SAR5210	Sustainable Urban planning	Ar. Sanghavi.V. V
SAR5211	Sustainable Waste Management	Ar. Sanghavi.V. V
SAR5610	Research Methodologies in Built Environment	Ar. R. Arulmalar
SAR5622	Green building rating systems	Ar. Sheetal
SAR6512	Sustainable Design Studio III	Ar. Sheetal kalamkar
S89PROJ1	Pre-Thesis	Ar. Sheetal kalamkar
	Year Coordinator:	Ar. Sheetal kalamkar



www.sathyabama.ac.in

SCHOOL OF BUILDING AND ENVIRONMENT

DEPARTMENT OF DESIGN

Batch:2019-2023 Course: Bachelor of Design (Interior Design) Semester: III

	8.30-9.30	9.30-10.30	10.30-11.00	11.00-12.00	12.00-1.00
MON	SDE 1301	SDE 1302	В	SDE 230	02
TUE	SDE 9302		R	SDE 9301	
WED	SDE 1301	SDE 1302	E	SDE 230	01
THU	SDE 9301		Α	SDE 9301	
FRI	SDE 9302		K	SDE 930	01

Course code	Name of the Course	STAFF NAME
SDE1301	Creative Thinking Process and Methods	Ar. Deepalakshmi
SDE1302	Communicating Design	Ar. Yusuf Chiniwala
SDE 2301	Materials and Construction I	Ar. Kavitha
SDE 2302	Interior Services I	Ar.Sindhu Meenatchi
SDE 9301	Interior Design Studio III	Ar. Arun.S. K
SDE 9302	Model Making Workshop	Mr. Amudhan
	Year Coordinator:	Ar. Arun.S. K



www.sathyabama.ac.in

SCHOOL OF BUILDING AND ENVIRONMENT

DEPARTMENT OF FASHION DESIGN

Batch: 2019 - 2022 Course: B.Sc- Fashion Design SEMESTER: III

	8.30-9.30	9.30-10.30	10.30-11.00	11.00-12.00	12.00-1.00
MON	Traditional Textiles of India	Fashion Trend and Forecasting	В	History of Art and Fashion	Traditional Surface Ornamentation
TUE	Fashion Trend and Forecasting	History of Art and Fashion	R	Traditional Textiles of India	Fashion Illustration -II
WED	History of Art and Fashion	Traditional Textiles of India	E	Fashion Trend and Forecasting	Traditional Surface Ornamentation
THU	Traditional Textiles of India	Fashion Trend and Forecasting	A	Traditional Textiles of India	Fashion Illustration -II
FRI	Fashion Illustration -	Traditional Textiles of India	К	History of Art and Fashion	Traditional Surface Ornamentation

Course code	Name of the Course	STAFF NAME
SFDA 1301	Traditional Textiles of India	S.Krithika
SFDA 1302	Fashion Trend and Forecasting	K.S. Ravi sidhaarth
SFDA 1303	History of Art and Fashion	Preethi Panneer Selvam
SFDA 2303	Fashion Illustration - II	K.S. Ravi sidhaarth
SFDA 2305	Traditional Surface Ornamentation	Preethi Panneer Selvam
	Year Coordinator:	Preethi Panneer Selvam